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2.5 Compute the unit-pulse response i[n] for n = 0, 1,2, 3 for each of the following

discrete- time systems:
(¢) y[n + 2] + 1.5y[n + 1] + 0.5y[n] = x[n]
» Solve manually. Also, sketch i[n] w/ stems labeled. [Hint: Exploit time-invariance

to re-index I/O difference equation. ]
P rﬁwaf{h h.f-

/ze.*i;wt{e,k\ L /e.#}.qj A > -1 (7"?
’ e
| 7oy )

)/[ﬂj+;_5/yfm»ﬂ+@,sy[”,zj = x(n-2])
Put in recarsive form wl X3 = L0104 yC1=h(]

kil = = 1.ShOa-T =05 h(n2T + { G212

o ol —-istibosHl I3 = o
[ W] =-15h aj “&fﬁ[ﬂ] + Jﬁd] = g

N=7 [/tfzzr“/:ﬂl?[f]*wﬁ%z] t {(o( L
n=3 ”‘[33“"”&[?3”"‘&‘]4%? 1.

hln)

=

/




